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BIOLOGY

Ql. The process of taking in oxygen from inhaled air and releasing out carbon dioxide by exhalation
is called ---.
(a) Transport
(b) Diffusion
(c) Assimilation
(d) Breathing

Sol. (d)

Q2. The valve between the left atrium and the left ventricle isthe .
(a) Tricuspid valve
(b) Aortic semilunar valve
(c) Bicuspid valve
(d) Pulmonary semilunar valve

Sol. (c)
The bicuspid valve also called the left auriculo — ventricular valve, and is located between the
left atrium and the left ventricle.

Q3. in the ruminant stomach have a mutualistic relationship with animal.
(a) Fungi
(b) Virus
(c) Protozoa
(d) Bacteria

Sol. (d)
Bacteria in the ruminant stomach have a mutualistic relationship with the animal.

Q4. respiration is seem in insects.
(a) Cutaneous
(b) Tracheal
(c) Pulmonary
(d) Brachial
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Sol. (b)

Q5. Amoebaisa ___ celled organism.
(a) Double
(b) Acellular
(c) Multi
(d) Tri

Sol. (c)
Amoeba is acellular or single called organism.

Q6. Which among the following are a granulocytes?
(a) Lymphocytes and monocytes
(b) Eosinophils and basophils
(c) Lymphocytes and basophils
(d) Eoisnophils and monocytes

Sol. (a)
Lymphocytes and monocytes are agranulocytes. Cytoplasm does not have granules.

Q7. In the absence of oxygen, glucose breaks downinto .
(a) CO;
(b) CO; and water
(c) Alcohol
(d) CO; and alcohol

Sol. (d)
In the absence of oxygen, glucose breaks down into and alcohol.
Glucose - Alcohol + CO; + Energy

Q8. Saliva is secreted in the
(a) Mouth

(b) Stomach
(c) Large intestine
(d) Small intestine

Sol. (a)
Salvia is secreted into the mouth by salivary glands, and it coverts starch into sugar.
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Q9. The transport of water in plantsis ____.
(a) Always downward
(b) Always upward
(c) Multi directional
(d) Always lateral

Sol. (b)
The transport of water occurs from roots to the leave; hence, it is always upward.

Q10. During transpiration, loss of water from plants occurs in the form of .
(a) Water vapour only
(b) Water vapour and liquid
(c) Liquid and other compounds
(d) Water vapour, water droplets and other compounds

Sol. (a)

Ql1. The transport of food from leaves to all other parts other parts of the plant body is known as

(a) Transpiration
(b) Translocation
(c) Guttation
(d) Transfusion

Sol. (b)
The transport of food from leaves to all other parts of the plants body is known as translocation
and it occurs through phloem.

Q12. Which of the following gases is released by plants during photosynthesis?
(a) Oxygen
(b) Carbon dioxide
(c) Nitrogen
(d) Hydrogen

Sol. (a)
Oxygen is released during photosynthesis by plants.
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Q13.

Sol.

Qi4.

Sol.

Q15s.

Sol.

Q1ie.

Sol.

Which of the following are autotrophs?
(a) All animals

(b) All plants

(c) All green plants and a few bacteria
(d) Bacteria and unicellular animals

(c)
All green plants, chemosynthetic bacteria and cyanobacteria are capable of making their own
food. Hence, they know as autotrophs.

Which among the following plants secretes digestive juice on insects?
(a) Autotrophic

(b) Saprophytic

(c) Parasitic

(d) Insectivorous

(d)
In insectivorous plants, digestive juice is secreted on insects. It enable the plants to fulfill its
nitrogenous requires from insects.

The pseudopodia join together to forma
(a) Projection

(b) Food vacuole

(c) Food

(d) Hole the structure

(b)

The pseudopodia join together to form a food vacuole.

Grassisrichin
(a) Maltose
(b) Sucrose
(c) Cellulose
(d) Fructose

(c)

Grass is rich in cellulose.



Transweb Educational Services Pvt Ltd
B -147, Sector -6 Noida, UP - 201301,
www.askiitians.com

askllTians e Sano 3000 5%

ENGINEERING | MEDICAL | FOUNDATION

Q17. The number of molar teeth in the lower jaw of an adult humanis
(a) 2
(b) 4
(c) 6
(d) 8

Sol. (c)
The number of molar teeth in the lower jaw of an adult human is 6.

Q18. Theinner wall of the small intestine contains finger — like outgrowths called
(a) Pilli
(b) Villi
(c) Cilia
(d) Flagella

Sol. (b)
The inner wall of the small intestine contains finger — like outgrowths called villi, which help in
increasing the surface area for the absorption of digested food.

Q19. Chlorophyll traps energy from
(a) The soil
(b) Water
(c) Thesun
(d) The air

Sol. (c)
Chlorophyll present in the leaves traps solar energy for photosynthetic activities.

Q20. Which of the following is a parasitic plant?
(a) Cuscuta
(b) Money plant
(c) Pitcher plant
(d) Water lily

Sol. (a)
Cuscuta(Amarbel) does not have chlorophyll, it takes readymade food from the plants on which
it is climbing. The plant on which it climbs is called the host. Since it deprives the host of
valuable.

CHEMSITRY
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Q21. Moogasilkisthe
(a) Weakest variety of silk
(b) Strongest natural fibre which weakens on ageing
(c) Strongest natural fibre which improves with ageing and washing
(d) Most abundant variety of silk.

Sol. (c)
Mooga silk is the strongest natural fibre which improves with ageing and washing.

Q22. A ___ develops inside the cocoon.
(a) Caterpillar
(b) Silk worm
(c) Larva
(d) Silk moth

Sol. (d)
A silk moth develops inside the cocoon.

Q23. Which of the following are not wool bearing animals?
(a) Angora goats
(b) Llama
(c) Sheep
(d) Deer

Sol. (d)
Deer does not give wool. Angora goats, Llama and sheep are wool bearing animals.

Q24. The process involved in obtaining wool after shearing is called ____.
(a) Rolling
(b) Dying
(c) Sorting
(d) Scouring

Sol. (d)
The process involved in obtaining wool after shearing is called scouring. During scouring greases,
dust and dirt are removed from the fleece.
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Q25. Caterpillars of the silk moth feed on the ___ leaves.
(a) Neem
(b) Mango
(c) Mulberry
(d) Gulmohar

Sol. (c)
Caterpillars of the silk moth feed on the mulberry leaves.

Q26. Which of the following products are formed in a reaction between hydrochloric acid and sodium
hydroxide?
(a) Sodium and chlorine
(b) Water and sodium
(c) Carbon dioxide and water
(d) Sodium chloride and water

Sol. (d)
When hydrochloric acid reacts with sodium hydroxide, sodium chloride and water are formed.
This is a neutralization reaction.

Q27. The condition caused due to an increase in hydrochloric acid in the stomach is called .
(a) Basicity
(b) Acidity
(c) Salinity
(d) Alkalinity

Sol. (b)
The condition caused due to an increase in hydrochloric acid in the stomach is called acidity.

Q28. The sour taste of lemon is due to the presentof __ acid.
(a) Acetic
(b) Tartaric
(c) Citric
(d) Sulphuric

Sol. (c)
The sour taste of lemon is due to the presence of citric acid. Citric acid is present in other citrus
fruits like oranges, grape fruit, tangerines etc.



Transweb Educational Services Pvt Ltd
B -147, Sector -6 Noida, UP - 201301,
www.askiitians.com

askliTians Tl gt

ENGINEERING | MEDICAL | FOUNDATION

Q29. Alitmus paperis adried stripof _ paper soaked in a litmus solution.
(a) Craps
(b) Tissue
(c) Hand —made
(d) Filter

Sol. (d)
A litmus paper is a dried strip of filter paper soaked in a litmus solution.

Q30. Acidsare
(a) Corrosive
(b) Pleasant
(c) Harmless
(d) Insoluble in water

Sol. (a)
Acids are corrosive, harmful, and unpleasant and are soluble in water.

Q31. ___ protects the polar bear from its predators.
(a) Claws
(b) White fur
(c) Paw
(d) Fat
Sol. (b)

Its white fur protects the polar bear from its predators. The white fur is similar to the snow in
the Polar Regions, and therefore, the predators cannot see the polar bear and it is prevented
from being hunted.

Q32. The sun does not rise at poles for _____ months.
(a) Three
(b) Six
(c) One
(d) Two

Sol.  (b)
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Q33. The __ ofthetropical rain forest has sticky pads on its feet to climb trees.
(a) Monkey
(b) Macaw
(c) Red-—-eyed frog
(d) Squirrel

Sol. (c)
The red — eyed frog, of the tropical rain forest, has sticky pads on its feet to climb trees.

Q34. __ isameasure of the moisture in the air.
(a) Rainfall
(b) Snowfall
(c) Humidity
(d) Dew
Sol. (c)

Humidity is a measure of the moisture in the air.

Q35. The weatherisa___ phenomenon.
(a) Stable
(b) Complex
(c) Harmful
(d) Simple

Sol. (b)

Q36. Which of the following is NOT a physical property of a substance?
(a) Shape
(b) Color
(c) Density
(d) Flammability

Sol. (d)

Q37. Which of the following MIGHT NOT tell a chemical change has taken place?
(a) Evolution of gas.
(b) Lightis generated
(c) Production of heat
(d) Converting liquid into gas.
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Sol. (d)

Q38. Turning milk into curd is a
(a) Physical change
(b) Physical property
(c) Chemical change
(d) Chemical property

Sol. (c)

Q39. Which of the following is a chemical property of Aluminum?
(a) It corrodes with air
(b) Itis soft and malleable
(c) It melts at 660°C
(d) It density is 2.70 g/c cm?3

Sol. (a)

Q40. Formation of gas bubblesis
(a) A physical change
(b) A physical property
(c) A chemical change
(d) A chemical property

Sol. (c)

PHYSICAL
Q41. Abody is said to be in motion if there is a charge in its position with ___
(a) Speed
(b) Distance
(c) Time
(d) Torque

Sol. (c)
A body is said to be in motion if there is a change in its position with time, respect to a
stationary object.
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Q42. Invery hot places the walls of houses are painted white or with light colour on the outer surface
to__ heat.
(a) Conduct
(b) Absorb
(c) Radiate
(d) Reflect

Sol. (d)
White and light colours reflect more light when compared with dark colours, Hence, in very hot
places the walls of houses are painted white or with light colour on the outer surface, to reflect
heat and makes the house cool.

Q43. Heatis transmitted from sunto earthby .
(a) Convection only
(b) Radiation only
(c) Conduction only
(d) Conduction and convection

Sol. (b)
Heat is transmitted from sun to earth through vacuum. The method of transmission of heat
without the help of any medium is known as radiation. Hence, heat is transmitted from sun to
earth by radiation.

Q44. The steam pointisequalto___ °C
(a) O
(b) 90
(c) 100
(d) 45

Sol. (c)
The boiling point of water is the stream point and is equal to 100°C

Q45. Inadistance time graph, the vertical axis represents
(a) Velocity
(b) Distance
(c) Speed
(d) Time

Sol. (b)
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Q46. When the current passing through an electric bell is switched off,
(a) The coil loses its magnetism
(b) The coil retains its magnetism
(c) The coil gets transformed into a permanent magnet
(d) There is no effect on the coil

Sol. (a)

Q47. When an electric current flows through a wire, the wire gets heated, itisthe
(a) Heating effect of electric current
(b) Electric effect of magnetic field
(c) Magnetic effect of electric current
(d) Heating effect of magnetic field

Sol. (a)
When an electric current flows through a wire, the wire gets heated. It is the heating effect of
electric current.

Q48. Insome devices the cells are placed side by side, In these devices terminals of cells are
connected by .
(a) Non —metallic wires
(b) Non — metallic strips
(c) A thick metallic wires
(d) Rubber wires

Sol. (c)
In some devices the cells are placed side by side and there is usually a thick metallic wire or
metal strip connecting the positive terminal of one cell to the negative terminal of the next cell.

Q49. People living in very cold places wears clothes make of fur, because it prevents the heat loss of
the body by .
(a) Conduction
(b) Convection
(c) Radiation
(d) Reflection

Sol. (a)
The air trapped in between the fur prevents the loss of heat of the body due to conduction and
keeps the body warm.
Hence, people living in very cold places wear clothes made of fur.
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Q50. Heat in solids is transferred from one point to another pointdueto
(a) Conduction
(b) Radiation
(c) Convection
(d) Heating

Sol. (a)
Heat in solids is transferred from one point to another point due to conduction.

Q51. The normal temperature of human body is 98.4°F. Its value on Celsius scale is ___°C.

(a) 36.9
(b) 30
(c) 50
(d) 60
Sol. (a)
Here F=98.4 °F
In Celsius scale it will be, - = & _93 2
=2@&-37
=3®°

Therefore, the normal temperature of human body on Celsius scale is 36.9°C.

Q52. Currentflowsin ___ inthe circuit.
(a) An open circuit without a battery
(b) An open circuit with a battery
(c) A closed circuit with a battery
(d) A closed circuit without a battery

Sol. (c)

Q53. Heating elements of electric heaters are made up of
(a) Iron
(b) Copper
(c) Nickel
(d) Nichrome

Sol.  (d)
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Q54. Electricbellhas
(a) An electric fuse
(b) A permanent magnet
(c) An electromagnet
(d) No magnet

Sol. (c)
Electric bell has an electromagnet. Electric bell is a direct application of the electromagnets.

Q55. Onacold night Peter wants to go for an outing with his friends, which of the following colorued
jackets, should he choose to wear in the cold climate?
(a) Light green
(b) White
(c) Paleyellow
(d) Black

Sol. (d)
Black colour jacket has to be chosen, as it is a good absorber of heat, which keeps him warm in
the cold climate.

Q56. Doctor’s thermometer must not be washed with not water because__
(a) Cold water is better than hot water
(b) Cold water cleans the bulb better than hot water
(c) Temperature of hot water will be above the range of the temperature graduated on it
(d) Temperature of cold water helps to bring the mercury back into the bulb

Sol. (c)
Doctor’s thermometer must not be washed with hot water because the temperature of hot
water is beyond the range of thermometer so the thermometer may break on washing it with
hot water.

Q57. Which of the following is a scalar quantity?
(a) Distance
(b) Displacement
(c) Velocity
(d) Force

Sol. (a)
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Q58.

Sol.

Q59.

Sol.

Q60.

Sol.

The meter that is used to measure the distance moved by the vehicle is knownas
(a) Speedometer

(b) Odometer

(c) Chronometer

(d) Ammeter

(b)

Which of the following instrument measures time with the most accuracy?
(a) Sun dial

(b) Sand clock

(c) Quartz clock

(d) Mechanical clock with gears

()

A faster moving object covers:

(a) Less distance in more time
(b) More distance in more time
(c) Less distance in shorter time
(d) More distance in shorter time

(d)
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